MORE THAN 50 PAGES AVAILABLE FOR REVIEW AT COUNTY ADMINISTRATION

Agenda Item #:<u>34</u>2

PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS <u>AGENDA ITEM SUMMARY</u>

Meeting	Date:	May

ay 4, 2010

(X) Consent() Workshop

() Regular() Public Hearing

Department

Submitted By: Submitted For:

Environmental Resources Management Environmental Resources Management

I. EXECUTIVE BRIEF

Motion and Title: Staff recommends motion to approve: Contract with Rio-Bak Corporation in the amount of \$250,950 for the construction of Delaware Scrub Natural Area Public Use Facilities, Project No. 2009ERM07.

Summary: The Project will provide parking facilities, walking trail, wooden boardwalk, observation platform and other amenities at this natural area, which is co-owned by the County and the Town of Jupiter. Thirteen (13) eligible bids were received for this Project. Rio-Bak Corporation, a Palm Beach County company, was the lowest responsive, responsible bidder that was responsive to the 15% Small Business Enterprise (SBE) goal with 67.51% participation. The Contract is funded with a Loxahatchee River Preservation Initiative (LRPI) Grant administered by the South Florida Water Management District. ERM's match for the LRPI Grant, provided by the Natural Areas Fund has been established in the Environmental Resources Capital Projects Fund. All funding is non-ad-valorem. <u>District 1</u> (JM)

Background and Justification: The Natural Area is on the northeast corner of West Indiantown Road and North Delaware Boulevard in Jupiter. The Board approved a LRPI Grant (R2009-0859) on May 19, 2009, in the amount not to exceed \$225,000, to reimburse the County for the Project. Bids were received through the Department of Environmental Resources Management by the Board of County Commissioners on January 26, 2010. The Contract time is 180 days.

Attachments:

- 1. Location Map
- 2. Contract
- 3. Bid Tabulation Sheet
- 4. SBE Compliance Review

Recommended by:	Department Director	4/20/10 Date	
	d St L Do : -		
Approved by:	County Administrator	<u> </u>	
	······································	Dutt	

II. FISCAL IMPACT ANALYSIS

А.	Five Year Su	mmary of Fi	scal Impact:			
Fiscal Years Capital Exp Operating (oenditures	2010 \$250,950	2011	2012	2013	2014
	evenues .come (County) .tch (County)	<u>(\$125,475)</u>				
NET FISC	CAL IMPACT	<u>\$125,475</u>	<u> </u>			
	IONAL FTE IS (Cumulative))				
Is Item Incl Budget Acc	uded in Curren ount No.:	Fund <u>3654</u>		s <u>X</u> t <u>381</u> Unit <u>I</u>	No E407 Object (5504
В.	Recommend	ed Sources of	Funds/Sum	mary of Fisca	l Impact:	
	Loxahatchee 2 County 50% 1				\$125,475 \$125,475	
C.	Department		v: Jf VIEW COM	<u>MENTS</u>		
А.	OFMB Fisca	and /or Con	itract Dev. a	nd Control,Co	mplents:	
	OFMB 39	bian 4		In- J. Intract Develo	pment and Co Jones 4/33	$\frac{\mathcal{H}[\partial \mathcal{B}]}{\operatorname{trol}}$
В.	Legal Suffici			mi's Co	ntract complies wi review requireme	th our
	Assistant Co	unty Autorne	1/27/00	contract		
C.	V Other Depar	tment Reviev	v:			

Department Director



ATTACHMENT # /

CONTRACT

_, 20___, between THIS CONTRACT, made and entered into this _____ day of _ PALM BEACH COUNTY, a political subdivision of the State of Florida, hereinafter referred to as the _, hereinafter referred to as the "CONTRACTOR". "County" and RIO-BAK CORPORATION WITNESSETH:

That the said Contractor having been awarded the Contract for the:

Delaware Scrub Natural Area Public Use Facilities Project No. 2009ERM07

in accordance with the Bid therefore and for and in consideration of the promises and of the covenants and agreements, and of the payments herein specified, to be made and performed by the Contractor and the County, the Contractor hereby covenants and agrees to and with the County to undertake and execute all of the said named work, in a good, substantial and workmanlike manner, and to furnish and pay for all materials, labor, supervision, equipment, supplies, fees, expertise, and services necessary to fully complete all work in accordance with all requirements of the Contract Documents and in accordance with all applicable codes and governing regulations, within the time limit specified in the Bid Form. The Contract Documents consist of the following documents which are incorporated herein by reference.

- Invitation for Bid, Instructions to Bidders, Bid Form and Attachments 1 through 8 Α-
- Completed Bonds and Insurance Forms
- General Conditions, Supplemental General Conditions and Appendices A, B B -C -
- Technical Specifications, including Figures, Attachments and Appendices D -
- Addenda E -
- Permits F -
- Drawings/Plans G -

Contractor agrees to accept as full compensation for the satisfactory performance of this Contract the sum of \$250,950.00 (two hundred fifty thousand nine hundred fifty dollars and no cents). The prices named in the Bid are for the completed work and all expenses, direct or indirect, connected with the proper execution of the work and of maintaining the same until it is accepted by the Board of County Commissioners. It is understood that the Contractor holds and will maintain current appropriate certification(s) and/or license(s) for performing the specified work pursuant to this Contract. The time limit for the Substantial Completion of all work under this Contract shall be as stated in the Bid Form. The date fixing the beginning of this period upon the calendar shall be established and stated in the Notice to Proceed.



IN WITNESS WHEREOF, the Board of County Commissioners of Palm Beach County, Florida, has made and executed this Contract on behalf of the said County and caused the seal of the said County to be affixed hereto, and the Contractor has hereunto set its hand and seal the day and year written. The Contractor represents that it is authorized to execute this contract on behalf of itself and its Surety.

ATTEST: SHARON R. BOCK CLERK & COMPTROLLER

APPROVED AS TO FORM AND LEGAL SUFFICIENCY:

Assistant County Attorney

PALM BEACH COUNTY, FLORIDA, A Political Subdivision of the State of Florida BOARD OF COUNTY COMMISSIONERS

By: ______Burt Aaronson, Chair

APPROVED AS TO TERMS AND CONDITIONS: Kalend English

Richard E. Walesky, Director) Department of Environmental Resources Management

CONTRACTOR:

Bv: //

Rio-Bok Corp (Corporate Name)

a <u>Florida</u> corporation (insert state of corporation)

(witness signature)

(witness name printed)

(Corporate Seal)

Its: UP of Finance (print title)

(signatory)

(date of execution) 6

12773 Forest Hill Boulevard, Suite 210 (Contractor's Official Address) Wellington, FL 33414 (Contractor's City, State, Zip Code) 65-0330616 (Federal Tax No.)

Project Name: Delaware Scrub Natural Area Public Use Facilities

Project No. 2009ERM07

Bid Opening Date: January 26, 2010

Contract	Time:	180	Calenda	ır Dav	ys
----------	-------	-----	---------	--------	----

			Surge Solut	tions Group	Rio-Bak Co	rporation	H&J Contra	acting, Inc.	AVG UN
SE BID ITEMS	QTY	UNIT	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	(3 LOWE
1 MOBILIZATION	1	LS	\$ 3,360.00	\$ 3,360.00	\$ 4,200.00	\$ 4,200.00	\$ 25,966.50		\$ 11
2 MAINTENANCE OF TRAFFIC	1	LS	1,470.00	1,470.00	500.00	500.00	2,828.70	2,828.70	\$ 1
3 CONSTRUCTION SURVEYS & AS BUILT DRAWINGS	1	LS	7,260.00	7,260.00	7,500.00	7,500.00	8,597.40	8,597.40	\$ 7
4 NPDES COMPLIANCE	1	LS	864.00	864.00	2,500.00	2,500.00	7,334.86	7,334.86	\$ 3
5 CLEARING & GRUBB (PARKING LOT & CONCRETE PATHWAYS)	1	LS	3,581.00	3,581.00	4,200.00	4,200.00	12,780.60	12,780.60	\$6
6 SITE GRADING	1	LS	2,856.00	2,856.00	4,000.00	4,000.00	6,751.29	6,751.29	\$ 4
7 EMBANKMENT (OFF-SITE STRUCTURAL FILL)(PARKING LOT, NATURE TRAIL, CONTRACTOR ACCESS)	300	СҮ	5.35	1,605.00	16.37	4,911.00	10.84	3,252.00	\$
8 12" COMPACTED SUBGRADE (PARKING LOT, SIDEWALKS, SLABS)	1,782	SY	2.32	4,134.24	1.93	3,439.26	1.68	2,993.76	\$
96-1/2" LIMEROCK / 8" CRUSHED CONC. BASE (PARKING LOT, W/PRIME, INC. TESTING)	722	SY	12.44	8,981.68	17.08	12,331.76	8.98	6,483.56	\$
10 1-1/2" TYPE S-III ASPHALTIC CONCRETE (PARKING LOT) (1 LIFT) (W/TACK COAT)	722	SY	10.21	7,371.62	14.60	10,541.20	9.40	6,786.80	\$
13.5" BASEROCK, COMPACTED, AND 12" COMPACTED SUBGRADE (ROW).	r								
11 ALTERNATE: 8" ABC-3 ASPHALT BASE OVER 12" COMPACTED SUBGRADE.	75	SY	31.48	2,361.00	22.40	1,680.00	15.89	1,191.75	\$
12 1" S-1, 1-1/2" S-III ASPHALTIC CONCRETE (R.O.W.) (W/ TACK COAT)	75	SY	21.70	1,627.50	20.95	1,571.25	39.17	2,937.75	\$
13 TYPE "D" EXTRUDED CURB (PARKING LOT)	180	LF	10.14	1,825.20	15.75	2,835.00	8.77	1,578.60	\$
14 4"-MONOLITHIC SIDEWALK & CURB (INC. TESTING) (PARKING AREA)	165	SY	38.40	6,336.00	47.25	7,796.25	34.68	5,722.20	\$
15 DETECTABLE WARNING SURFACE (PEDESTRIAN RAMP, PER FDOT INDEX 304)	9	EA	282.00	2,538.00	420.00	3,780.00	336.00	3,024.00	\$
16 CONCRETE WHEELSTOP	6	EA	25.44	152.64	22.26	133.56	21.00	126.00	\$
17 4" SOLID WHITE STRIPE (PARKING STALLS)	168	LF	0.30	50.40	0.42	70.56	0.26	43.68	\$
18 4"-SOLID BLUE STRIPE (HANDI-CAPPED PARKING STALL)	100	LF	0.30	30.00	0.63	63.00	0.53	53.00	\$
19 6"-SOLID YELLOW (BUS PARKING)	90	LF	0.48	43.20	0.63	56.70	1.47	132.30	\$
20 12"-SOLID WHITE STRIPE (CROSS WALKS) (THERMOPLASTIC)	122	LF	6.30	768.60	5.51	672.22	3.68	448.96	\$
21 12"-SOLID WHITE STRIPE (CROSS WALKS) (THERMOPLASTIC)	16	LF	6.30	100.80	5.51	88.16	1.47	23.52	\$
22 HANDICAP MARKING SYMBOL	1	EA	18.00	18.00	15.75	15.75	262.50	262.50	s
23 "BUS ONLY" LETTERING	1	EA	90.00	90.00	75.18	75.18	78.75	78.75	\$
24 DIRECTIONAL ARROWS	3	EA	30.00	90.00	29.40	88.20	21.00	63.00	Ś
4" CONCRETE PATHWAY (INCL. COMPACTION TESTING) (NATURE TRAIL 1,200' X 5')	<u> </u>								
25 (SIDEWALK ALONG DELAWARE BLVD. 215'X5')	790	SY	26.46	20,903.40	37.80	29,862.00	23.06	18,217.40	ls
6" CONCRETE PATHWAY(STEEL REINFORCED)(INCL. COMPACTION TESTING)									
26 (20'X15' NATURE TRAIL VEHICLE CROSSING) (15'X20' ENTRANCE DRIVE CROSSINGS)	100	SY	33.78	3,378.00	42.53	4,253.00	31.41	3,141.00	s
27 TRAFFIC SIGN ASSEMBLY (ONE SIGN PER POST)	3	EA	162.00	486.00	225.75	677.25	210.00	630.00	\$
28 TRAFFIC SIGN ASSEMBLY (TWO SIGNS PER POST)	2	EA	252.00	504.00	336.00	672.00	210.00	420.00	\$
29 SWING GATE, 16'-ALUMINUM (W/ TWO TIE BACK POSTS)	2	EA	2,148.00	4,296.00	2,551.50	5,103.00	2,551.50	5,103.00	\$ 2
30 FARM GATE (PARKING LOT)	2	EA	600.00	1,200.00	525.00	1,050.00	525.00	1,050.00	\$
31 POST & RAIL FENCE (2-HOLE w/hog wire)	610	LF	13.50	8,235.00	11.81	7,204.10	11.81	7,204.10	Ś
32 BENCH ON NATURE TRAIL (Champion Bench Model # 22K2162 or approved equal)	1	EA	1,102.00	1,102.00	1,000.00	1,000.00	1,005.90	1,005.90	\$ 1
32 BIKE RACK (Ribbon Rack Model RB011G or approved equal)	$\frac{1}{1}$	EA	598.00	598.00	800.00	800.00	472.50	472.50	\$
33 JIRE RACK (RIDDON RACK MODEL ROUTED OF Approved Equal) 34 JPE BOARDWALK THROUGH CYPRESS SWAMP (335'X6'') (ALONG NATURE TRAIL)	335	LF	302.86	101.458.10	262.50	87.937.50	264.99	88.771.65	Ś
34 IPE BOARDWALK THROUGH CYPRESS SWAMP (335 X6) (ALONG MATORE TRAIL)	1	EA	11,904.00	11,904.00	10,257.10	10,257.10	14,668.50	14.668.50	\$ 12
35 INFORMATION KIOSK (8 X 8 FRAME)(80 SQ-10 CONCRETE SLAB) 36 ENTRANCE SIGN (6' X 6') (TWO-SIDED) (MONUMENT-STYLE)	1	EA	10,530.00	10,530.00	500.00	500.00	4,623.15	4,623.15	\$ 5
36 ENTRANCE SIGN (5 X 6) (TWO-SIDED) (MONOMENT-STITE) 37 WILDLIFE OBSERVATION PLATFORM W/BOARDWALK APPROACH	1		18,000.00	18,000.00	19,740.00	19,740.00	21,238.35	21,238.35	\$ 19
37 WILDLIFE OBSERVATION PLATFORM W/BOARDWALK APPROACH 38 15" RCP (CONTRACTOR ACCESS CROSS DRAIN)	30		49.99	1,499.70	30.00	900.00	22,27	668.10	5 12
38 15" RCP (CONTRACTOR ACCESS CROSS DRAIN) 39 REMOVE "F" CURB & REPLACE WITH DROP CURB	140	LF	22.56	3,158.40	50.00	7.000.00	20.68	2,895.20	\$
40 NORTH DELAWARE BLVD. STRIPING	140	LS LS	1,080.00	1,080.00	945.00	945.00	1,194.38	1,194.38	\$ 1

Note: numbers in *bold italic* indicate a calculation correction.

Construction Contract Bid Tabulation

Project Name: Delaware Scrub Natural Area Public Use Facilities

Project No. 2009ERM07

Bid Opening Date: January 26, 2010

Contract Time: 180 Calendar Days	
----------------------------------	--

Contract Time: 180 Calendar Days			Sunshine Lan	d Design, Inc.	H&D Constructio	on Company, Inc.	Rob Fran	cis, Inc.	Construction T	echnology, Inc.	J. Rawn Enter	rprises, Inc.
ASE BID ITEMS	QTY	UNIT	UNIT COST	TOTAL COST	UNITCOST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1 MOBILIZATION	1	LS	\$ 21,220.00	\$ 21,220.00	\$ 14,000.00			\$ 30,000.00	\$ 23,200.00		\$ 11,000.00	the second second
2 MAINTENANCE OF TRAFFIC	1	LS	8,100.00	8,100.00	7,000.00	7,000.00	1,440.00	1,440.00	3,600.00	3,600.00	3,465.00	3,465.
3 CONSTRUCTION SURVEYS & AS BUILT DRAWINGS	1	LS	6,500.00	6,500.00	10,000.00	10,000.00	9,600.00	9,600.00	5,400.00	5,400.00	9,457.14	9,457.
4 NPDES COMPLIANCE	1	LS	16,092.00	16,092.00	10,000.00	10,000.00	4,200.00	4,200.00	6,100.00	6,100.00	288.75	288.
5 CLEARING & GRUBB (PARKING LOT & CONCRETE PATHWAYS)	1	LS	24,000.00	24,000.00	12,000.00	12,000.00	9,120.00	9,120.00	8,000.00	8,000.00	3,696.00	3,696.0
6 SITE GRADING	1	LS	3,500.00	3,500.00	6,000.00	6,000.00	3,000.00	3,000.00	2,200.00	2,200.00	3,465.00	3,465.
7 EMBANKMENT (OFF-SITE STRUCTURAL FILL)(PARKING LOT, NATURE TRAIL, CONTRACTOR ACCESS)	300	CY	15.00	4,500.00	8.00	2,400.00	9.60	2,880.00	10.00	3,000.00	11.55	3,465.
8 12" COMPACTED SUBGRADE (PARKING LOT, SIDEWALKS, SLABS)	1,782	SY	2.00	3,564.00	2.00	3,564.00	1.62	2,886.84	3.50	6,237.00	1.16	2,067.
9/6-1/2" LIMEROCK / 8" CRUSHED CONC. BASE (PARKING LOT, W/PRIME, INC. TESTING)	722	SY	11.14	8,043.08	12.00	8,664.00	13.20	9,530.40	18.50	13,357.00	16.17	11,674.
10 1-1/2" TYPE S-III ASPHALTIC CONCRETE (PARKING LOT) (1 LIFT) (W/TACK COAT)	722	SY	11.95	8,627.90	12.50	9,025.00	13.78	9,949.16	12.50	9,025.00	13.86	10,006.
13.5" BASEROCK, COMPACTED, AND 12" COMPACTED SUBGRADE (ROW).												
11 ALTERNATE: 8" ABC-3 ASPHALT BASE OVER 12" COMPACTED SUBGRADE.	75	SY	24.14	1,810.50	24.00	1,800.00	20.70	1,552.50	45.00	3,375.00	57.75	4,331.
12 1" S-1, 1-1/2" S-III ASPHALTIC CONCRETE (R.O.W.) (W/ TACK COAT)	75	SY	24.28	1,821.00	41.50	3,112.50	22.96	1,722.00	18.00	1,350.00	55.44	4,158.
13 TYPE "D" EXTRUDED CURB (PARKING LOT)	180	LF	7.78	1,400.40	11.00	1,980.00	11.40	2,052.00	17.00	3,060.00	17.33	3,119.
14 4"-MONOLITHIC SIDEWALK & CURB (INC. TESTING) (PARKING AREA)	165	SY	29.55	4,875.75	35.00	5,775.00	44.40	7,326.00	59.00	9,735.00	46.20	7,623.
15 DETECTABLE WARNING SURFACE (PEDESTRIAN RAMP, PER FDOT INDEX 304)	9	EA	450.00	4,050.00	300.00	2,700.00	390.00	3,510.00	325.00	2,925.00	693.00	6,237.
16 CONCRETE WHEELSTOP	6	EA	24.38	146.28	22.00	132.00	36.00	216.00	37.00	222.00	34.65	207.
17 4" SOLID WHITE STRIPE (PARKING STALLS)	168	LF	0.46	77.28	0.80	134.40	1.50	252.00	1.00	168.00	1.16	194.
18 4"-SOLID BLUE STRIPE (HANDI-CAPPED PARKING STALL)	100	LF	0.69	69.00	0.80	80.00	1.50	150.00	1.00	100.00	1.16	116.
19 6"-SOLID YELLOW (BUS PARKING)	90	LF	0.69	62.10	1.00	90.00	1.50	135.00	1.00	90.00	2,31	207.
20 12"-SOLID WHITE STRIPE (CROSS WALKS) (THERMOPLASTIC)	122	LF	6.04	736.88	7.00	854.00	7.82	954.04	3.00	366.00	9.24	1,127.
21 12"-SOLID WHITE STRIPE (CROSS WALKS) (THERMOPLASTIC)	16	LF	6.04	96.64	10.00	160.00	7.82	125.12	3.00	48.00	9.24	147.8
22 HANDICAP MARKING SYMBOL	1	EA	17.25	17.25	150.00	150.00	90.00	90.00	50.00	50.00	288.75	288
23 "BUS ONLY" LETTERING	1	EA	86.25	86.25	100.00	100.00	90.00	90.00	100.00	100.00	346.50	346.
24 DIRECTIONAL ARROWS	3	EA	32.20	96.60	100.00	300.00	30.00	90.00	50.00	150.00	57.75	173.
4" CONCRETE PATHWAY (INCL. COMPACTION TESTING) (NATURE TRAIL 1,200' X 5')												
25 (SIDEWALK ALONG DELAWARE BLVD. 215'X5')	790	SY	28.70	22,673.00	35.00	27,650.00	33.60	26,544.00	57.00	45,030.00	27.49	21,717.
6" CONCRETE PATHWAY(STEEL REINFORCED)(INCL. COMPACTION TESTING)												
26 (20'X15' NATURE TRAIL VEHICLE CROSSING) (15'X20' ENTRANCE DRIVE CROSSINGS)	100	SY	47.73	4,773.00	35.00	3,500.00	36.00	3,600.00	74.00	7,400.00	14.73	1,473.
27 TRAFFIC SIGN ASSEMBLY (ONE SIGN PER POST)	3	EA	204.88	614.64	175.00	525.00	210.00	630.00	350.00	1,050.00	231.00	693.
28 TRAFFIC SIGN ASSEMBLY (TWO SIGNS PER POST)	2	EA	253.70	507.40	300.00	600.00	294.00	588.00	500.00	1,000.00	346.50	693.
29 SWING GATE, 16'-ALUMINUM (W/ TWO TIE BACK POSTS)	2	EA	2,587.50	5,175.00	1,800.00	3,600.00	2,916.00	5,832.00	2,200.00	4,400.00	1,674.75	3,349.
30 FARM GATE (PARKING LOT)	2	EA	2,587.50	5,175.00	600.00	1,200.00	600.00	1,200.00	915.00	1,830.00	941.33	1,882.
31 POST & RAIL FENCE (2-HOLE w/hog wire)	610	LF	6.90	4,209.00	15.00	9,150.00	13.50	8,235.00	18.00	10,980.00	26.57	16,207.
32 BENCH ON NATURE TRAIL (Champion Bench Model # 22K2162 or approved equal)	1	EA	700.00	700.00	750.00	750.00	2,400.00	2,400.00	2,100.00	2,100.00	1,039.50	1,039.
33 BIKE RACK (Ribbon Rack Model RB011G or approved equal)	1	EA	1,490.00	1,490.00	375.00	375.00	1,200.00	1,200.00	1,950.00	1,950.00	1,056.83	1,056.
34 IPE BOARDWALK THROUGH CYPRESS SWAMP (335'X6'') (ALONG NATURE TRAIL)	335	LF	231.91	77,689.85	310.00	103,850.00	340.30	114,000.50	250.00	83,750.00	397.68	133,222.
35 INFORMATION KIOSK (8' X 8' FRAME)(60 SQ-YD CONCRETE SLAB)	1	EA	12,733.20	12,733.20	8,000.00	8,000.00	7,200.00	7,200.00	14,300.00	14,300.00	6,157.57	6,157.
36 ENTRANCE SIGN (6' X 6') (TWO-SIDED) (MONUMENT-STYLE)	1	EA	7,964.00	7,964.00	12,000.00	12,000.00	3,000.00	3,000.00	5,900.00	5,900.00	3,461.17	3,461.
37 WILDLIFE OBSERVATION PLATFORM W/BOARDWALK APPROACH	1	LS	15,369.00	15,369.00	20,000.00	20,000.00	18,000.00	18,000.00	18,300.00	18,300.00	28,824.41	28,824.
38 15" RCP (CONTRACTOR ACCESS CROSS DRAIN)	30	LF	31.11	933.30	30.00	900.00	60.00	1,800.00	95.00	2,850.00	40.43	1,212.
39 REMOVE "F" CURB & REPLACE WITH DROP CURB	140	LF	28.00	3,920.00	20.00	2,800.00	37.80	5,292.00	32.50	4,550.00	15.02	2,102.
40 NORTH DELAWARE BLVD. STRIPING	1	LS	1,035.00	1,035.00	1,200.00	1,200.00	1,132.00	1,132.00	1,590.00	1,590.00	1,155.00	1,155. \$ 311,113.

Note: numbers in *bold* isalie indicate a calculation correction.

s...

Construction Contract Bid Tabulation

Project Name: Delaware Scrub Natural Area Public Use Facilities

Project No. 2009ERM07

Bid Opening Date: January 26, 2010

ontract Time: 180 Calendar Days			JMW Constru	iction Corp.	Pioneer Contracting, Inc. Ame		American Earth Movers, Inc.		AA Engineerin	g Services, Inc.	The Murphy Construction Co.		
ASE BID ITEMS	QTY	UNIT	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST		TOTAL COST	UNIT COST	TOTAL COST	
1 MOBILIZATION	1	LS	\$ 10,000.00	\$ 10,000.00	\$ 29,160.00	\$ 29,160.00	\$ 25,000.00		\$ 10,000.00		\$ 25,142.09		
2 MAINTENANCE OF TRAFFIC	1	LS	4,000.00	4,000.00	5,700.00	5,700.00	7,000.00	7,000.00	4,000.00	4,000.00	5,175.00	5,175.0	
3 CONSTRUCTION SURVEYS & AS BUILT DRAWINGS	1	LS	12,000.00	12,000.00	3,360.00	3,360.00	8,000.00	8,000.00	5,000.00	5,000.00	15,443.57	15,443.5	
4 NPDES COMPLIANCE	1	LS	2,000.00	2,000.00	3,300.00	3,300.00	1,000.00	1,000.00	5,000.00	5,000.00	2,500.00	2,500.0	
5 CLEARING & GRUBB (PARKING LOT & CONCRETE PATHWAYS)	1	LS	25,000.00	25,000.00	18,630.00	18,630.00	15,000.00	15,000.00	50,000.00	50,000.00	11,336.70	11,336.7	
6 SITE GRADING	1	LS	8,000.00	8,000.00	10,001.21	10,001.21	7,000.00	7,000.00	18,000.00	18,000.00	9,717.50	9,717.5	
7 EMBANKMENT (OFF-SITE STRUCTURAL FILL)(PARKING LOT, NATURE TRAIL, CONTRACTOR ACCESS)	300	СҮ	35.00	10,500.00	25.88	7,764.00	45.00	13,500.00	30.00	9,000.00	13.80	4,140.0	
8 12" COMPACTED SUBGRADE (PARKING LOT, SIDEWALKS, SLABS)	1,782	SY	6.73	11,992.86	2.53	4,508.46	9.00	16,038.00	12.00	21,384.00	2.88	5,132.1	
9/6-1/2" LIMEROCK / 8" CRUSHED CONC. BASE (PARKING LOT, W/PRIME, INC. TESTING)	722	SY	25.00	18,050.00	19.55	14,115.10	15.00	10,830.00	30.00	21,660.00	18.40	13,284.8	
10 1-1/2" TYPE S-III ASPHALTIC CONCRETE (PARKING LOT) (1 LIFT) (W/TACK COAT)	722	SY	41.00	29,602.00	16.75	12,093.50	30.00	21,660.00	20.00	14,440.00	16.10	11,624.2	
13.5" BASEROCK, COMPACTED, AND 12" COMPACTED SUBGRADE (ROW).											,	1	
11 ALTERNATE: 8" ABC-3 ASPHALT BASE OVER 12" COMPACTED SUBGRADE.	75	SY	45.00	3,375.00	69.12	5,184.00	70.00	5,250.00	40.00	3,000.00	74.75	5,606.2	
12 1" S-1, 1-1/2" S-III ASPHALTIC CONCRETE (R.O.W.) (W/ TACK COAT)	75	SY	50.00	3,750.00	48.76	3,657.00	30.00	2,250.00	40.00	3,000.00	59.80	4,485.0	
13 TYPE "D" EXTRUDED CURB (PARKING LOT)	180	LF	20.00	3,600.00	24.00	4,320.00	25.00	4,500.00	30.00	5,400.00	20.70	3,726.0	
14 4"-MONOLITHIC SIDEWALK & CURB (INC. TESTING) (PARKING AREA)	165	SY	50.00	8,250.00	54.30	8,959.50	50.00	8,250.00	60.00	9,900.00	69.00	11,385.0	
15 DETECTABLE WARNING SURFACE (PEDESTRIAN RAMP, PER FDOT INDEX 304)	9	EA	350.00	3,150.00	336.00	3,024.00	350.00	3,150.00	250.00	2,250.00	805.00	7,245.0	
16 CONCRETE WHEELSTOP	. 6	EA	40.00	240.00	26.40	158.40	35.00	210.00	100.00	600.00	69.00	414.0	
17 4" SOLID WHITE STRIPE (PARKING STALLS)	168	LF	1.00	168.00	0.60	100.80	3.00	504.00	1.00	168.00	3.45	579.6	
18 4"-SOLID BLUE STRIPE (HANDI-CAPPED PARKING STALL)	100	LF	2.00	200.00	0.72	72.00	3.00	300.00	23.00	2,300.00	3.45	345.0	
19 6"-SOLID YELLOW (BUS PARKING)	90	LF	2.00	180.00	0.72	64.80	5.00	450.00	1.00	90.00	3.45	310.5	
20 12"-SOLID WHITE STRIPE (CROSS WALKS) (THERMOPLASTIC)	122	LF	5.00	610.00	6.30	768.60	9.00	1,098.00	3.00	366.00	10.35	1,262.7	
21 12"-SOLID WHITE STRIPE (CROSS WALKS) (THERMOPLASTIC)	16	LF	5.00	80.00	6.30	100.80	9.00	144.00	3.00	48.00	10.35	165.6	
22 HANDICAP MARKING SYMBOL	1 .	EA	50.00	50.00	18.00	18.00	200.00	200.00	70.00	70.00	287.50	287.5	
23 "BUS ONLY" LETTERING	1	EA	300.00	300.00	90.90	90. 9 0	200.00	200.00	250.00	250.00	287.50		
24 DIRECTIONAL ARROWS	3	EA	30.00	90.00	33.60	100.80	50.00	150.00	17.00	51.00	57.50	172.5	
4" CONCRETE PATHWAY (INCL. COMPACTION TESTING) (NATURE TRAIL 1,200' X 5')													
25 (SIDEWALK ALONG DELAWARE BLVD. 215'X5')	790	SY	40.00	31,600.00	45.60	36,024.00	45.00	35,550.00	45.00	35,550.00	51.75	40,882.5	
6" CONCRETE PATHWAY(STEEL REINFORCED)(INCL. COMPACTION TESTING)		· ·				1						1	
26 (20'X15' NATURE TRAIL VEHICLE CROSSING) (15'X20' ENTRANCE DRIVE CROSSINGS)	100	SY	50.00	5,000.00	57.00	5,700.00	60.00	6,000.00	50.00	5,000.00	66.70		
27 TRAFFIC SIGN ASSEMBLY (ONE SIGN PER POST)	3	EA	200.00	600.00	258.00	774.00	200.00	600.00	450.00	1,350.00	230.00	690.0	
28 TRAFFIC SIGN ASSEMBLY (TWO SIGNS PER POST)	2	EA	300.00	600.00	384.00	768.00	200.00	400.00	490.00	980.00	345.00	690.0	
29 SWING GATE, 16'-ALUMINUM (W/ TWO TIE BACK POSTS)	2	EA	4,000.00	8,000.00	5,832.00	11,664.00	4,500.00	9,000.00	3,000.00	6,000.00	2,185.00	4,370.0	
30 FARM GATE (PARKING LOT)	2	EA	500.00	1,000.00	600.00	1,200.00	1,300.00	2,600.00	700.00	1,400.00	1,828.50	14,030.0	
31 POST & RAIL FENCE (2-HOLE w/hog wire)	610	LF	18.00	10,980.00	13.50	8,235.00	18.00	10,980.00	18.00	10,980.00	23.00		
32 BENCH ON NATURE TRAIL (Champion Bench Model # 2ZK2162 or approved equal)	1	EA	850.00	850.00	2,220.00	2,220.00	600.00	600.00	1,240.00	1,240.00	1,029.25 632.50	1,029.2	
33 BIKE RACK (Ribbon Rack Model RB011G or approved equal)	1	EA	750.00	750.00	2,040.00	2,040.00	600.00	600.00	640.00	640.00	<u>632.50</u> 534.91	179,194.8	
34 IPE BOARDWALK THROUGH CYPRESS SWAMP (335'X6") (ALONG NATURE TRAIL)	335	LF	300.00	100,500.00	291.38	97,612.30	320.00	107,200.00	378.00	126,630.00	11.678.00		
35 INFORMATION KIOSK (8' X 8' FRAME)(60 SQ-YD CONCRETE SLAB)	1	EA	7,500.00	7,500.00	23,970.00		14,000.00	14,000.00	7,500.00	7,500.00	8,479.00		
36 ENTRANCE SIGN (6' X 6') (TWO-SIDED) (MONUMENT-STYLE)	1	EA	3,500.00	3,500.00	8,010.00	8,010.00	1,500.00	1,500.00	7,500.00	7,500.00	38,772.93	38,772.9	
37 WILDLIFE OBSERVATION PLATFORM W/BOARDWALK APPROACH	1	LS	15,000.00	15,000.00	23,577.30	the second s	25,000.00	25,000.00	27,000.00	27,000.00	38,772.93		
38 15" RCP (CONTRACTOR ACCESS CROSS DRAIN)	30	LF	125.00	3,750.00	57.60	1,728.00	200.00	6,000.00	100.00	3,000.00	25.00		
39 REMOVE "F" CURB & REPLACE WITH DROP CURB	140	LF	30.00	4,200.00	27.00		50.00	7,000.00	10.00	1,400.00	950.00	and the second s	
40 NORTH DELAWARE BLVD. STRIPING	1 1	l LS	3,500.00	3,500.00	1,080.00	1,080.00	3,000.00	3,000.00	1,400.00	1,400.00	930.00	\$ 457,034.2	

Note: numbers in bold italic indicate a calculation correction.

FREM : OSBA



Office of Small Business Assistance 50 South Military Trail, Suite 209 West Palm Boach, FL 33415 (561) 616-6840 Pax: (561) 616-6850 www.pbcgov.com/osba

> Palm Beach County Board of County Commissioners

Buri Aaronson, Chair

Karen T. Marcus, Vice Chair

Jeff Koons

Shelley Vana

Steven L. Abrams

Joss R. Santamaria

Priscilla A. Taylor

County Administrator

(WB)

(SB)

(SB)

(SB)

Page 1 of 2 Project 2009ERM07

Robert Weisman

"An Equal Opportunity Aftirmative Action Employer"

CD printed on recycled paper

Mar. 25 2010 11:014M P1 FAX ND. :5616166850 ENV. RES. MGMT. Ø Env. Enh. & Restoration Natural Resources Stewardship Resources Protection Mosquito Control Pinance & Support Services 0 D Director Deputy Director Other_ March 25, 2010 DATEI Daniel Bates, Environmental Director TOI Environmental Enhancement and Restoration Division Office THROUGH : Allen Gray - Manager, Palm Beach of Small Business Assistance (Tanoy Williams, Compliance Specialist II FROM: Compliance Review on Project No. 2009ERMO SUBJECT : Delaware Scrub Natural Area Public Use Facilities The following is a Compliance Review of SBE participation on the above-mentioned project. SURGE SOLUTIONS GROUP, INC. LOW BIDDER: 8120 Belvedere Road #4 West Palm Beach, FL 33411 561-333-3600 Phone: January 26, 2010 Bid Opening: \$245,847.48 Bid Amount: 15% Overall Goal: 13.83 Goal Achieved: SBE Participation: \$ 3,580.00 1.46% Lawrence Fence 3.31% \$ 8,145.00 Bri-Sand \$15,000.00 6.10% Coston Marine \$12,160.00 Cook Lumber X 60 \$7,296.00 <u>2.968</u> \$34,021.00 13.83%

14

MAR 2 5 2010

ENVIRONMENTAL RESOURCES MANAGEMENT

ATTACHMENT # 4

FRON COSBA

FAX NO. :5616166850

Mar: 25 2010 11:01AM P2



2ND LOW BIDDER:

Phone: Bid Amount: Goal: Goal Achieved:

SBE Participation:		
(SB) Fine-Line Striping	\$ 3,391.90	1.35%
(SB) Engenuity Group	\$ 7,342.00	2.92%
(SB) Wm. D. Adeimy	\$46,215.00	18.42%
(SB) Const. Tech.	\$112,470.00	44.82%
	\$169,418.90	67.51%

67.51%

3RD LOW BIDDER:

H & J CONTRACTING, INC.

RIO-BAK CORPORATION 12773 FOREST HILL BLVD.

WELLINGTON, FL

561-791-9721

\$250,950.00

15% Overall

3160 Fairlane Farms Road Wellington, FL 33414 561-791-1953 \$270,764.71 15% Overall 16.35%

Phone: Bid Amount: Goal: Goal Achieved:

• •	Engenuity	\$8188.00 \$44,288.00	3.02% 16.35%
(BL)	<u>SBE Participation:</u> Concrete Experts	\$36,100.00	13.33%

EVALUATION

The low bidder, SURGE SOLUTIONS GROUP, INC. has not met the SBE goal for this project. *

The second low bidder, **RIO-BAK CORPORATION**, has met the SBE goal for this project and falls within the range for ranking of responsive bidders.

c: Tammy Fields, Assistant County Attorney File

Page 2 of 2 Project 2009ERN07